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1) Time/date/day setting crown

2) Chronograph start/stop button

3) Chronograph resetting button

4) 12-hour counter

5) 30-minute counter

6) Small second hand independent of chronograph

A) Exterior rotating bezel

B) Crown for adjusting C

C) Upper interior rotating bezel

D) Crown for adjusting E

E) Lower interior rotating bezel
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Hamilton is delighted that you have chosen a time- .
piece from its collection. You have acquired a small
technological marvel that will serve you faithfully for
many years. The most advanced technologies were
used throughout its manufacture and it underwent

stringent controls before it was released for sale.

Instructions for use

The Hamilton Khaki Automatic X-Wind has three screw-down crowns and two push-buttons.
(1) crown for setting the time, the day and the date

(B) crown for adjusting the upper interior rotating bezel (C)

(D) crown for adjusting the lower interior rotating bezel (E)

(2) button to start and stop the chronograph

(3) button to reset the chronograph to zero

Setting the time

—  Unscrew setting crown (1).

—  Pull out the crown completely to position (1b).

—  Adjust the time by turning the crown in the desired direction.
—  Push back the crown completely then screw it down again.

Setting the date / day

~  Unscrew setting crown (1).

—  Pull out the crown to the intermediate position (1a).

—  Turn the crown anticlockwise until the desired date appears, or clockwise for the desired day. Do not
perform this operation between 2000 and 0200 (8 p.m. and 2 am.).

—  Push back the crown completely then screw it down again.
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Chronograph functions

First push of start/stop button (2) starts chronograph hand and counters.
Second push of start/stop button (2) stops chronograph hand and counters.

Subsequent operation of start/stop button (2) starts and stops the chronograph as many times as required
to measure a total time.

Pushing reset button (3) resets the chronograph hand and counters to zero.

Crosswind
1.

Position the red arrow of the upper interior rotating bezel (C) at 12 o'clock by adjusting with crown (B).
Adjust the lower interior rotating bezel (E) to 0° by adjusting with crown (D).

2. Obtain wind speed and direction from control tower or weather chart.

Ex. Wind speed: 40 mph
Wind direction: 70°

Indicate wind direction (70) in the window with the upper interior rotating bezel (C) by adjusting with crown
(B).
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3.

Ex. Aircraft speed: 180 mph — indicate 18.
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If the variation (Var) is to the West, it is added to
the geographical bearing to obtain the magnetic

bearing. Ex. 30° 4+ 10° = 40°

Tn: True North | Mn: Magnetic North | Var: Variation

Ex. Geographical bearing: 30°

Variation (Var): 10°

Magnetic bearing: 30° + 10° = 40°
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Adjust the exterior rotating bezel (A) so that one tenth of the speed of the aircraft is indicated opposite the
red arrow.

From the geographical bearing, calculate the magnetic bearing of the aircraft:
The variation (Var) depends on the current location, which can be determined from an aviation chart.

If the variation (Var) is to the East, it is subtracted

from the geographical bearing to obtain the
magnetic bearing. Ex. 30° - 16° = 15°



Ex.

Calculation of crosswind angle.

Wind direction: 70°
Magnetic bearing of aircraft: 40°
Crosswind angle: 70° - 40° = 30° (headwind)
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70°-40°=30° 180° - (330° - 220°) = 70° 360° - (330° - 40°) = 70°
(headwind) (tailwind) (headwind)
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6. Calculation of crosswind:
Using the graph (plastic card) determine the point of intersection of the wind speed (head/tailwind
component) and the crosswind angle
Going from the point of intersection, read the value of the crosswind component on the horizontal axis.

Ex. Headwind component: 40 mph
Crosswind angle: 30°
Crosswind component: 20 mph
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Ex.

Ex

Calculate the angle of drift:
Locate the crosswind component (20) on the exterior rotating bezel (A) and read the value indicated on the
interior bezel (C).

Angle of drift: approx. 6.5°

Calculation of corrected bearing:
If the wind is blowing from the right, add the angle of drift to the magnetic bearing.
If the wind is blowing from the left, subtract the angle of drift from the magnetic bearing.

Corrected bearing: 40° + 6.5° = 46.5°

For memorization, use the crown (D) to indicate the corrected bearing (46.5°) on the lower interior
rotating bezel (E).
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Recommendations .

Like all micro-mechanical precision instruments, your Hamilton watch should be checked at least once every
two years. Entrust your watch only to an authorized Hamilton agent. To keep your watch water-resistant, make
sure that its sealing features are tested at every check-up.

The water-resistance of your watch is 10 ATM = 100 meters = 330 feet.
Five basic rules for maintaining the water-resistance of your watch

Have your watch checked regularly (once a year).

Do not move the crown when you are in water.

Rinse off your watch after having been in the sea.

Dry your watch whenever it gets wet.

Have your watch checked for water-resistance by an authorized Hamilton agent each time the case is
opened.

O~ W=

Your watch is fitted with an automatic movement. The mechanism of the watch includes an oscillating rotor that
winds the mainspring via the movement of your wrist. The running reserve is approximately 46 hours. If
necessary, the watch may be rewound manually. The beauty of the inner working of the watch movement can
be admired through the transparent case back.
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1) Couronne de réglage heure et date

2) Poussoir départ/arrét du chronographe

3) Poussoir de remise a zéro du chronographe

4) Compteur 12 heures

5) Compteur 30 minutes

6) Petite seconde indépendante du chronographe

A) Lunette rotative extérieure

B) Couronne de réglage de C

C) Lunette rotative intérieure supérieure

D) Couronne de réglage de E

E) Lunette rotative intérieure inférieure

10
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Hamilton est heureux que vous ayez porté votre choix sur
un Mmodele de sa collection. Vous avez acquis une petite
merveille technigue qui vous servira fidelement pendant de
longues anneées. Les technigues les plus avanceées ont été
appliguées tout au long de sa fabrication et des controles

trés stricts ont préceédeé sa mise en vente.

Manuel d’utilisation

La montre Hamilton Khaki Automatic X-Wind est dotée de trois couronnes vissées et de deux poussoirs.
La couronne (1) sert & régler I'heure, le jour et la date.

La couronne (B) actionne la lunette intérieure supérieure (C).

La couronne (D) actionne la lunette intérieure inférieure (E).

Le poussoir (2) lance et stoppe le chronographe.

Le poussoir (3) met a zéro le chronographe.

Réglage de Pheure

—  Dévisser la couronne (1).

—  Tirer entierement la couronne en position (1b).

—  Régler 'heure en tournant la couronne dans le sens souhaité.
— Repousser entierement la couronne puis la revisser.

Réglage date / jour

—  Dévisser la couronne (1).

—  Tirer la couronne en position intermédiaire (1a).

—  Tourner la couronne dans le sens contraire des aiguilles d'une montre pour que la date souhaitée
apparaisse et dans le sens des aiguilles d'une montre pour que le jour souhaité apparaisse; éviter
d'effectuer cette opération entre 20 heures et 02 heures.

—  Repousser entierement la couronne puis la revisser.
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Fonctions du chronographe

—  (2) Premiere pression: enclenchement de I'aiguille du chronographe et des compteurs.

—  Deuxiéme pression: arrét de l'aiguille du chronographe et des compteurs.

—  Les pressions suivantes permettent d’enclencher le chronographe et de l'arréter autant de fois qu'il est
nécessaire de facon a obtenir un temps total.

—  (3) Poussoir de remise a zéro de I'aiguille du chronographe et des compteurs.

Vent de travers (crosswind)

1. Positionner la fleche rouge de la lunette rotative intérieure supérieure (C) sur 12 heures.

(Réglage par la couronne B).

Régler la lunette rotative intérieure inférieure (E) sur 0° (Réglage par la couronne D).

2. Connaitre la vitesse du vent (force du vent) et la direction du vent (d'ou vient le vent).
Information connue par la tour de contréle ou sur la carte météo.

Ex. Vitesse du vent: 40 mph
Direction du vent: 70°

Indiquer la direction du vent (70) dans la fenétre avec la lunette rotative intérieure supérieure (C)

(Réglage par la couronne B).
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3.

Indiquer la vitesse de I'avion au dixiéme sur la lunette rotative extérieure (A) en face de la fleche rouge.

179 A

bl ——

Ex. Vitesse de I'avion: 180 mph — indiquer 18.

4,

Ex.

A partir du cap géographique, calculer le cap magnétique de I'avion:
La variation (Var) dépend de I'endroit ol I'on se trouve, elle peut étre lue sur une carte d'aviation.

Var10°W

Quand la variation (Var) est 4 l'ouest, elle est Quand la variation (Var) est a l'est, elle est
ajoutée au cap géographique pour trouver le cap soustraite au cap géographique pour trouver le
magnétique. Ex. 30° + 10° = 40° cap magnétique. Ex. 30° - 16° = 15°

Tn: Vrai Nord | Mn: Nord Magnétique | Var: Variation

Cap géographique: 30°
Variation (Var): 10°
Cap magnétique: 30° + 10° = 40°
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Ex.

Calculer 'angle au vent de l'avion (Crosswind Angle). C'est-a-dire I'angle aigu entre 'axe du vent et I'axe

de l'avion.

Direction du vent: 70°
Cap magnétique de l'avion: 40°
Angle au vent: 70° - 40° = 30° (vent d'avant droite)

70°- 40°=30° 180° - (330° - 220°) = 70°
Vent avant droite (Headwind) Vent arriere droite (Tailwind)

360° - (330° - 40°) = 70°
Vent avant gauche (Headwind)

© HAMILTON 2005 / KHAKI AUTOMATIC X-WIND

6. Calcul du vent de travers:

A aide de I'abaque (carte plastique), reporter la vitesse du vent (Head/Tailwind Component) et I'angle au

vent (Crosswind Angle).
Depuis lintersection, lire la valeur du vent de travers (Crosswind Component) sur l'abscisse (axe .

horizontal).

Ex. Vitesse du vent (Headwind Component): 40 mph

Angle au vent (Crosswind Angle): 30°
Vent de travers (Crosswind Component): 20 mph
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Ex.

Ex

Calculer 'angle de dérive:
Repérer la valeur du vent de travers (20) sur la lunette rotative extérieure (A) et relever la valeur indiquée
sur la lunette intérieure (C).

Angle de dérive: env. 6,5°.

Calculer le cap corrigé:
Si le vent vient de droite, additionner 'angle de dérive au cap magnétique.
Si le vent vient de gauche, soustraire 'angle de dérive au cap magnétique.

Cap corrigé: 40° + 6,5° = 46,5°

A Iaide de la couronne (D), indiquer pour mémoire le cap corrigé (46,5°) sur la lunette rotative intérieure
inférieure (E).
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Recommandations

Votre montre Hamilton, comme toute micromécanique de précision, doit étre contrélée au moins une fois tous
les deux ans. Veillez a ne confier votre montre qu'a votre concessionnaire Hamilton. Pour préserver I'étanchéité .
de votre montre, assurez-vous que ses dispositifs d’étanchéité sont vérifiés lors de chaque contréle.

'étanchéité de votre montre est de 10 ATM = 100 metres.
Cinq régles de base pour préserver Pétanchéité de votre montre:

Faites controler régulierement votre montre (une fois par an).

Ne touchez pas a la couronne lorsque vous étes dans I'eau.

Rincez votre montre aprés vous étre baigné.

Séchez votre montre chaque fois qu'elle présente des traces d’humidité.

Demandez a votre concessionnaire Hamilton de vérifier 'étanchéité de votre montre apres toute ouverture
du boitier.

O~ W=

Votre montre est équipée d'un mouvement automatique. Le mécanisme de la montre contient une masse
oscillante qui remonte le ressort par le mouvement de votre poignet. La réserve de marche est d'environ 46
heures. En cas de besoin, elle peut étre remontée manuellement. La beauté du mécanisme peut étre admirée
grace au fond transparent du boitier.
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1) Krone zur Einstellung von Zeit/Datum/Wochentag Wir freuen uns, dass lhre Wahl auf ein Modell aus der

Hamilton Kollektion gefallen ist. Sie haben ein kleines

2) Start/Sto Knopf flir Stoppuhr . .. .
) gl il il Wunder der Technik erstanden, das Ihnen Uber viele Jahre

treue Dienste leisten wird. Diese Uhr wurde unter Einsatz .
3) Nullriickstellungsknopf fiir Stoppuhr

modernster Technik hergestellt und strengsten Kontrollen
4) 12 Stunden Zihler unterworfen, bevor sie fur den Verkauf freigegeben wurde.

5) 30 Minuten Zahler

Gebrauchsanleitung

6) Zweiter kleiner, von der Stoppuhr unabhiingiger Zeiger Die Hamilton Khaki Automatic X-Wind verfiigt (iber drei feststellbare Kronen und zwei Knépfe.
1) Krone zur Einstellung von Uhrzeit, Wochentag und Datum
B) Krone zur Einstellung des oberen innen liegenden Drehrings C
D) Krone zur Einstellung des unteren innen liegenden Drehrings E
2) Start/Stopp Knopf fiir Stoppuhr
3) Nullriickstellungsknopf der Stoppuhr
A) AuBerer Drehring
Einstellung der Uhrzeit
—  Krone (1) I6sen
—  Krone vollstandig in Position (1b) herausziehen
—  Zeit durch Drehen der Krone in die gewiinschte Richtung einstellen
- Krone wieder ganz eindriicken und festschrauben

B) Krone zur Einstellung von C

C) Oberer innen liegender Drehring Einstellung von Datum/Wochentag

—  Krone (1) I6sen

—  Krone in Zwischenstellung (1a) herausziehen

- Krone gegen den Uhrzeigersinn drehen, bis das gewiinschte Datum, oder mit dem Uhrzeigersinn drehen,
bis der gewlinschte Wochentag erscheint. Dieser Vorgang sollte nicht zwischen 20.00 und 02.00 Uhr
erfolgen

— Krone wieder ganz eindricken und festschraube

D) Krone zur Einstellung von E

E) Unterer innen liegender Drehring
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Funktionen der Stoppuhr

Das erste Driicken des Start/Stopp Knopfes (2) setzt Zeiger und Zahler der Stoppuhr in Gang

Beim zweiten Dricken des Start/Stopp Knopfes (2) werden Zeiger und Zahler der Stoppuhr gestoppt
Jede weitere Betatigung des Start/Stopp Knopfes (2) startet und stoppt die Stoppuhr so haufig wie
erforderlich, um eine Gesamtzeit zu messen

Durch Driicken des Nullriickstellungsknopfes (3) werden Zeiger und Zahler der Stoppuhr auf Null zurtick
gesetzt

Seitenwind (Crosswind)

1.

2.

20

Den roten Pfeil des oberen innen liegenden Drehrings (C) mit Hilfe von Krone (B) auf 12 Uhr drehen.
Den unteren innen liegenden Drehring (E) mit Hilfe von Krone (D) auf 0° bringen.

2) Uber Kontrollturm oder Wetterkarte Informationen zu Windgeschwindigkeit und Windrichtung einholen.
Beispiel:

Windgeschwindigkeit: 40 mph

Windrichtung: 70°

Windrichtung (70) im Fenster mit dem oberen innen liegenden Drehring (C) Uber Krone (B) einstellen.
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3.

Den auBeren Drehring (A) so einstellen, dass der rote Pfeil auf ein Zehntel der Fluggeschwindigkeit zeigt.

Beispiel: Fluggeschwindigkeit 180 mph — auf 18 einstellen.

4. Die missweisende Peilung des Flugzeugs anhand der geographischen Peilung berechnen:
Die Abweichung (Var) ist ortsabhangig und kann anhand einer Luftfahrtkarte ermittelt werden.
Liegt eine Abweichung (Var) in westlicher Liegt eine Abweichung (Var) in 6stlicher Richtung
Richtung vor, wird sie zur geographischen Peilung vor, wird sie von der geographischen Peilung
hinzu gerechnet, um die missweisende Peilung zu abgezogen, um die missweisende Peilung zu
ermitteln. Beispiel: 30° + 10 ° = 40° ermitteln. Beispiel: 30°- 16 °=15"°
Tn: geographische Nordrichtung | Mn: magnetische Nordrichtung | Var: Abweichung
Beispiel: geographische Peilung: 30°
Abweichung (Var): 10°
Missweisende Peilung: 30° + 10° = 40°
© HAMILTON 2005 / KHAKI AUTOMATIC X-WIND 21



Berechnung des Einfallswinkels des Seitenwindes (Crosswind Angle)

6. Berechnung des Seitenwindes: Mit Hilfe des Graphen (Plastikkarte) den Schnittpunkt der
Windgeschwindigkeit (Gegenwind/Riickenwind Komponente) (Head/Tailwind Component) und des
Beispiel: Einfallswinkels des Seitenwindes (Crosswind Angle) ermitteln.
Windrichtung: 70°
Missweisende Peilung des Flugzeugs: 40° Ausgehend vom Schnittpunkt den Wert der Seitenwindkomponente (Crosswind Component) von der
Einfallswinkel des Seitenwindes: 70° - 40° = 30° (Gegenwind) horizontal verlaufenden Achse ablesen.
Beispiel: Gegenwindkomponente (Headwind Component): 40 mph .
N N Einfallswinkel des Seitenwindes (Crosswind Angle): 30°
339:,(—»7%»\,\4 , Seitenwindkomponente (Crosswind Component): 20 mph
70 X Headwind
/ Eﬁ \,7\\ Com;:volnent
# X X HWC (mph) . N
wi % e ° =& &
‘\ // \\\ /“ 50 in A 5 :@0
\\\’/ \\ // 40 PRI S P
265X L7 G anm
S
30 4=
iEvas
70° - 40°=30° 180° - (330° - 220°) = 70° 360° - (330° - 40°) = 70° / e
Gegenwind (Headwind) Rickenwind (Tailwind) Gegenwind (Headwind)
L 80°
gosswind
o t
090" Sompenent
17 80°
20 X7 0°
\
= ’
30 HH
\ \/ 0|
A
40 Y = b »
50 A= ~ A.QIS:@"QQ
o = %e <
Tailwind ° <
Component
TWC(mph)
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24

Berechnung des Abdriftwinkels:

Unter der auf dem &uBeren Drehring (A) angegebenen Seitenwindkomponente (20) den angegebenen
Wert von dem innen liegenden Drehring (C) ablesen.

Beispiel: Abdriftwinkel: etwa 6,5°

Berechnung der korrigierten Richtung:
Kommt der Wind von rechts, Abdriftwinkel und missweisende Peilung addieren.
Kommt der Wind von links, Abdriftwinkel von missweisender Peilung abziehen.

Beispiel: Korrigierte Richtung: 40° + 6,56° = 46,6°

Die korrigierte Richtung (46,5°) kann Gber die Krone (D) auf dem unteren innen liegenden Drehring (E)
festgehalten werden.

© HAMILTON 2005 / KHAKI AUTOMATIC X-WIND

Empfehlungen:

Wie alle mikromechanischen Prézisionsinstrumente sollte auch Ihre Hamilton Uhr mindestens alle zwei Jahre
Uberpriift werden. Uberlassen Sie Ihre Uhr nur einem autorisierten Hamilton Vertragshandler. Sorgen Sie dafilr,
dass die Wasserdichtigkeit Ihrer Uhr bei jeder Uberpriifung der Uhr mitgetestet wird.

Die Wasserdichtigkeit Inrer Uhr betrgt 10 ATM = 100 m = 330 FuB .

Funf grundlegende Regeln zur Wahrung der Wasserdichtigkeit lhrer Uhr

Lassen Sie Ihre Uhr regelmaBig uberpriifen (einmal jahrlich)

Bewegen Sie die Krone nicht, wenn Sie im Wasser sind.

Spilen Sie lhre Uhr, wenn sie mit Salzwasser in Kontakt gekommen ist,

Trocknen Sie Ihre Uhr, wenn sie nass geworden ist.

Lassen Sie immer die Wasserdichtigkeit lhrer Uhr von einem autorisierten Hamilton Héndler tberpriifen,
wenn das Gehause gedffnet worden ist.

oA W=

lhre Uhr verfiigt Gber ein automatisches Uhrwerk. Eine Schwungmasse im Uhrenmechanismus zieht die
Sprungfeder bei Bewegungen des Handgelenks auf. Die Laufzeit der Uhr betragt dann etwa 46 Stunden. Falls
erforderlich, kann die Uhr auch manuell aufgezogen werden. Die Schénheit des Uhrenmechanismus kénnen Sie
durch das transparente riickwértige Gehause bewundern.
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1) Corona di regolazione ora/data/giorno Ci congratuliamo con Lei per aver acquistato un modello

della collezione Hamilton. Lei ha acquistato una piccola
2) Pulsante di avvio/arresto del cronografo Ll . N .
meraviglia tecnologica che La servira fedelmente per molti

anni. Questo pezzo e stato costruito seguendo le tecnologie
3) Pulsante di azzeramento del cronografo

piu avanzate e prima di essere messo in vendita & stato
4) Contatore 12 ore sottoposto ai test piu rigorosi. .

5) Contatore 30 minuti

Istruzioni per Puso

Il modello Khaki Automatic X-Wind della Hamilton & dotato di tre corone a vite e due pulsanti.
1) corona di regolazione dell'ora, del giorno e della data

B) corona di regolazione della lunetta girevole interna superiore C

D) corona di regolazione della lunetta girevole interna inferiore E

2) pulsante di awvio e arresto del cronografo

3) pulsante di azzeramento del cronografo

6) Lancettia indipendente per la misurazione dei secondi

A) Lunettia girevole esterna Regolazione dell’ora
—  Svitare la corona di regolazione (1).

—  Estrarla completamente fino a raggiungere la posizione 1b.
B) Corona di regolazione C - Sego)are l'ora girando la corona.ngHa Q|re2|one desiderata.
- pingere a fondo la corona e poi riawvitarla.
Regolazione della data / del giorno
C) Lunetta girevole interna superiore ~  Svitare la corona di regolazione (1).
— Estrarre la corona fino a raggiungere la posizione intermedia 1a.
—  Ruotare la coronain senso antiorario fino a quando appare la data desiderata, in senso orario per il giorno
D) Corona di regolazione E desiderato. Si raccomanda di non eseguire questa operazione tra le 20:00 e le 02:00 (8 di sera, 2 del
mattino).
—  Spingere a fondo la corona e poi riavvitarla.

E) Lunetta girevole interna inferiore
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Funzioni del cronografo

Premendo una volta il pulsante di awvio/arresto (2) partono i contatori e la lancetta del cronografo.
Premendo una seconda volta il pulsante di awio/arresto (2) si fermano i contatori e la lancetta del
cronografo.

Le successive pressioni del pulsante di awio/arresto (2) fanno partire e interrompono il cronografo tante
volte quanto necessario per misurare un tempo totale.

Premendo il pulsante di reset (3) la lancetta del cronografo e i contatori si riposizionano su zero.

Vento al traverso (Crosswind)

1.

2.

Girando la corona (B) posizionare la freccia rossa della lunetta girevole interna superiore (C) sulle ore 12.
Girando la corona (D) posizionare la lunetta girevole interna inferiore (E) su 0°.

Ricavare la velocita e |a direzione del vento dalla torre di controllo o dalla carta del tempo.

Es. Velocita del vento: 40 mph

28

Direzione del vento: 70°

Girando la corona (B) indicare la direzione del vento (70) nella finestrella della lunetta girevole interna
superiore (C).
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3. Regolare la lunetta girevole esterna (A) in modo che davanti alla freccia rossa appaia un decimo della
velocita del velivolo.
7 ' i~ A
pulubesindy ——
5 ) e for gl
WA 1Oy,
Es. Velocita del velivolo: 180 mph — indicare 18.
4. Dal polo nord geografico calcolare il polo nord magnetico del velivolo. La declinazione magnetica (Var)
dipende dalla localita in cui ci si trova e pud essere determinata dalla carta aeronautica.
Tn
Se la declinazione magnetica (Var) & verso ovest, Se la declinazione magnetica (Var) & verso est,
si aggiunge al polo nord geografico per ottenere il viene sottratta dal polo nord geografico per
polo nord magnetico. Es. 30°+10° = 40° ottenere il polo nord magnetico. Es. 30°-15° = 15°
Tn: Nord vero | Mn: Nord magnetico | Var: Declinazione magnetica
Es.  Polo nord geografico: 30°
Declinazione magnetica (Var): 10°
Polo nord magnetico: 30° + 10° = 40°
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Es.

Calcolo dell'angolo del vento al traverso (Crosswind Angle)

Direzione del vento: 70°

Polo nord magnetico del velivolo: 40°
Angolo del vento al traverso: 70° - 40° = 30° vento di fronte

6. Calcolo del vento al traverso

Usando il grafico (carta plastificata) determinare il punto di intersezione fra la velocita del vento (di fronte/di

coda) (Headwind/Tailwind Component) e 'angolo al vento (Crosswind Angle)

Dal punto di intersezione, leggere il valore del vento al traverso (Crosswind Component) sull'asse delle

ascisse (asse orizzontale).

Es. Velocita del vento (Headwind Component): 40 mph
Angolo al vento (Crosswind Angle): 30°
Vento al traverso (Crosswind Component): 20 mph

Headwind
Component
HWC (mph)
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70° - 40° = 30°
vento di fronte (Headwind)

180° - (330° - 220°) = 70°
vento di coda (Tailwind)

L7 &
30 -
360° - (330° - 40°) = 70° ARV/an
vento di fronte (Headwind) - "
L 80°
grosswind
o t
0 90° Gomponers
7T 80°
00
\
\ i &
30+
\
40 =% -
\ \ Z DQIQP
50— &
=
Tailwind ° <
Component
TWC(mph)
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Es.

Es.

32

Calcolo dell'angolo di deriva:
Individuare il vento al traverso (20) sulla lunetta girevole esterna (A) e leggere il valore indicato sulla lunetta
girevole interna (C).

Angolo di deriva: 6,5° circa

Calcolo della correzione della rotta:
Se il vento soffia da destra, sommare I'angolo di deriva al polo nord magnetico.
Se il vento soffia da sinistra, sottrarre I'angolo di deriva dal polo nord magnetico.

Correzione della rotta: 40° + 6,5° = 46,5°

Per memorizzare, usare la corona (D) per indicare la correzione della rotta (46,5°) sulla lunetta girevole
interna inferiore (E).
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Raccomandazioni

Come tutti gli strumenti meccanici di precisione, 'orologio Hamilton dovrebbe essere revisionato almeno ogni
due anni. Si raccomanda di far revisionare l'orologio soltanto da un riparatore autorizzato Hamilton. Per
mantenere l'impermeabilitd dell'orologio, assicurarsi che ad ogni revisione siano controllate le guarnizioni di

tenuta.
Llorologio & impermeabile finoa 10 ATM = 100 metri = 330 piedi.

Cinque regole base per mantenere Fimpermeabilita dellorologio
Far controllare I'orologio regolarmente (una volta I'anno).

Non muovere la corona quando si & in acqua.

Sciacquare l'orologio dopo le immersioni in mare.

Asciugarlo quando si bagna.

O~ W=

Hamilton.

Ogni volta che si apre la cassa, fare controllare Iimpermeabilita dell'orologio da un riparatore autorizzato

Llorologio & dotato di un dispositivo di carica automatica. Il suo meccanismo include infatti un rotore che carica
la molla motrice con il movimento del polso. L'autonomia di marcia & di 46 ore circa. Se necessario, & possibile
caricare I'orologio manualmente. Si pud ammirare la bellezza del meccanismo interno dell'orologio dal fondello

trasparente della cassa.

© HAMILTON 2005 / KHAKI AUTOMATIC X-WIND
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1) Corona de ajuste de fecha y hora.

2) Pulsador de accionamiento/ paro del cronografo.

3) Pulsador de puesta a cero del cronografo.

4) Contador de 12 horas

5) Contador de 30 minutos.

6) Pequeino segundero independiente del crondégrafo.

A) Bisel rotatorio exterior

B) Corona de ajuste de C

C) Bisel rotatorio interior superior

D) Corona de ajuste de E

E) Bisel rotatorio interior inferior.
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Hamilton se complace de que haya elegido un modelo de
su coleccion. Usted ha adquirido una pequena maravilla
tecnologica que le servira fielmente durante muchos anos.
Las tecnologias mas avanzadas han sido aplicadas en la
fabricacion de su reloj sometiéndolo a los Mmas estrictos

controles antes de su puesta a la venta.

Instrucciones de uso
El reloj Hamilton Khaki Automatic X-Wind cuenta con tres coronas atornilladas y con dos pulsadores.

1) Corona para el ajuste de la hora, el dia y la fecha.

B) Corona para el ajuste del bisel rotatorio interior superior C.
D) Corona para el ajuste del bisel rotatorio interior inferior E.
2) Pulsador de accionamiento y de paro del cronégrafo.

3) Pulsador de puesta a cero del cronégrafo.

Ajuste de la hora

—  Destornille la corona (1).

—  Tire completamente de la corona hasta la posicién 1b.

— Ajuste la hora girando la corona en el sentido deseado.

—  Presione completamente sobre la corona y vuelva a atornillar.

Ajuste de la fecha/ dia

—  Destornille la corona (1)

—  Tire de la corona hasta la posicién intermedia 1a

—  Gire lacorona en sentido anti-horario hasta que aparezca la fecha deseada y en sentido horario para que
aparezca el dia deseado. Evite realizar esta operacién entre las 20 y las 02 horas.

—  Presione completamente sobre la corona y vuelva a atornillar.
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Funciones del cronografo

Una primera pulsacién sobre el pulsador de accionamiento/ paro (2) pone en funcionamiento la aguja del
cronégrafo y de los contadores.

Una segunda pulsacion del pulsador de accionamiento/ paro (2) detiene la aguja del cronégrafo y de los
contadores.

Las pulsaciones siguientes del pulsador de accionamiento/ paro (2) accionan y detienen el cronégrafo
tantas veces como se requiera para la medicién de un tiempo total.

Una pulsacién sobre el botén de puesta a cero (3) pone la aguja del cronégrafo y los contadores a cero.

Viento de costado (crosswind)

1.

2.

Ej.:

36

Posicione la fecha roja del bisel rotatorio interior superior (C) sobre las 12 horas ajustandola con la corona
(B). Ajuste el bisel rotatorio interior inferior (E) a 0° con la corona (D).

giig

Obtenga la velocidad y la direccién del viento a partir de la torre de control o del mapa del tiempo.

Ry

Velocidad del viento: 40 mph
Direccién del viento: 70°

Indique la direccion del viento (70) en la ventana con el bisel rotario interior superior (C) ajustandolo con
la corona (B).
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3. Indique la velocidad del avién en el décimo situado sobre el bisel rotatorio exterior (A) frente a la flecha
roja.
Ej.: Velocidad del avién: 180 mph — indique 18.
4. Anpartir del rumbo geografico, calcule el rumbo magnético del avién: La variacion (Var) depende del lugar
donde Usted se encuentre, el cual se puede determinar a partir de la carta de navegacion.
Tn
f Mn
AP
I
1
—
Var15°E
Cuando la variacién (Var) se encuentre al oeste, Cuando la variacién (Var) se encuentre al este,
ésta se afiade al rumbo geografico para obtener el ésta se deduce del rumbo geogréfico para
rumbo magnético. Ej. : 30° + 10° = 40° obtener el rumbo magnético. Ej.: 30°-15° = 15°
Tn: Verdadero norte/ Mn: Norte magnético/ Var: Variacién
Ej.. Rumbo geogréfico: 30°
Variacién (Var): 10°
Rumbo magnético: 30° + 10° =40°
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Célculo del angulo del viento de costado. 6. Célculo del viento de costado:

Mediante el uso del gréfico (tarjeta de pléstico) determine el punto de interseccién de la velocidad del
viento (Head/ tailwind component) y el dngulo de viento de costado (Crosswind Angle).

Direccién del viento: 70°
Rumbo magnético del avion: 40°
Angulo del viento de costado: 70°- 40° = 30° (Viento contrario)

Desde el punto de interseccién, lea el valor del componente del viento de costado (Crosswind Component)

sobre el eje horizontal.
5391,/ —— 539/,/%%\_ o Ej: Componente de viento contrario (Headwind Component): 40 mph
///\/70«\, ¢ \/70°\;>’\ Angulo de viento de costado (Crosswind Angle): 30°
{ Xﬁ y s ki Componente de viento de costado (Crosswind Component): 20 mph
/ VA 1 / 1 Headwind
T \ / I [ C t
1 /N I 1 FWG (mah)
\ 2N [ \ o & o s
\\\/ | // 500 o & 66\(\
/ N ] < O’ @
220° X /. Vil g \;\%
G —t— . 1 ANEFERER  YEEN' EEENEE
s 40 Qo / ™
7 AN
70° - 40° = 30° 180° - (330° - 220°) = 70° 360° - (330° - 40°) = 70° 30 =/
Viento contrario (Headwind) Viento de cola (Tailwind) Viento contrario (Headwind) /
10
L 80°
gosswind
o t
090° Sempenent
7T 80°
00
\
D\ ’
30 HH
\
L :
40 Y = NS
QQ]
50 Y e
o = %e $
Tailwind ° <
Component
TWC(mph)
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40

Célculo del angulo de deriva:
Indique el componente de viento de costado (20) en el bisel rotatorio exterior (A) y lea el valor indicado en
el bisel interior (C).

Angulo de deriva: aprox. 6,5°

Célculo del rumbo corregido:
Cuando el viento sople por la derecha, afiada el dngulo de deriva al rumbo magnético.
Cuando el viento sople por la izquierda, reste el dngulo de deriva al rumbo magnético.

Rumbo corregido: 40° + 6,5° = 46,5°

Para su memorizacién, use la corona (D) para indicar el rumbo corregido (46,5°) sobre el bisel rotatorio
interior inferior (E).
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Recomendaciones

Como cualquier instrumento de precisién micro-mecénica, su reloj Hamilton debe ser revisado al menos una vez
cada dos afios. Sélo confie su reloj a un agente autorizado por Hamilton. Para preservar la estanqueidad de su
reloj, aseglrese de que sus dispositivos de estanqueidad sean revisados en cada control.

La estanqueidad de su reloj es de 10 ATM = 100 metros = 330 pies.

Cinco reglas basicas para preservar la estanqueidad de su reloj

Controle de forma regular su reloj (Una vez al afio)

No mueva la corona cuando esté en el agua.

Enjuague su reloj después de bafiarse en el mar.

Seque su reloj cada vez que se humedezca.

Pida a su agente autorizado Hamilton que verifique la estanqueidad de su reloj cada vez que se abra la caja.

oA W=

Su reloj esta equipado con un movimiento automatico. EI mecanismo del reloj contiene un rotor oscilatorio que
le da cuerda al resorte mediante el movimiento de su mufieca. La reserva de marcha es de aproximadamente
46 horas. En caso de necesidad, se le puede dar cuerda al reloj de forma manual. La belleza del mecanismo de
su reloj puede admirarse a través del fondo transparente de la caja.
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1) Coroa de regulacéo da hora/data/dia Acaba de adquirir uma peca de relojoaria da coleccao da

Hamilton. Esta pequena maravilha da tecnologia estara

2) Botao Ligar/Desligar do cronografo . .
fielmente ao seu servico por longos anos. Durante a sua

concepcéao, foram utlizadas as tecnologias mais
3) Botao de reinicializacao do cronografo

avangadas e, antes de ser colocada a venda, foi submetida

4) Contador 12 horas aos controlos mais rigorosos.

5) Contador 30 minutos
Instrucoes de utilizacao .

O relégio Khaki Automatic X-Wind da Hamilton tem trés coroas aparafusadas e dois botdes de pressao.
1) Coroa para regular a hora, o dia e a data

B) Coroa para regular a luneta giratéria interior (C), na parte superior

D) Coroa para regular a luneta giratéria interior (E), na parte inferior

2) Botéo para ligar ou desligar o cronégrafo

3) Botéo para repor o crondgrafo a zero

6) Segundo ponteiro pequeno independente do cronografo

A) Luneta giratéria exterior Regulacao da hora
—  Desaperte a coroa de regulacéo (1);

—  Puxe a coroa completamente para fora, para a posicéo 1b;
B) Coroa para regular C —  Ajuste a hora rodando a coroa no sentido desejado;
— Reponha a coroa completamente para dentro e aperte-a novamente.

Regulacao da data/do dia

C) Luneta giratoria interior, parte superior —  Desaperte a coroa de regulagdo (1);

— Puxe a coroa para a posicéo intermédia 1a;

—  Rode a coroa no sentido contrério ao dos ponteiros do relégio até aparecer a data desejada, ou no sentido
dos ponteiros do relégio para seleccionar o dia da semana. Nao execute esta operacéo entre 20:00 e
02:00 (8 da noite e 2 da manha);

—  Reponha a coroa completamente para dentro e aperte-a novamente.

D) Coroa para regular E

E) Luneta giratoria interior, parte inferior
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Func¢oes do cronografo

Ao premir uma vez o botéo ligar/desligar (2), o ponteiro do crondgrafo e os contadores séo iniciados;

Ao premir uma segunda vez esse mesmo boto (2), o ponteiro do crondgrafo e os contadores param;

As pressdes subsequentes no botdo (2) iniciam e param o crondgrafo as vezes desejadas para
cronometrar um tempo total;

Se premir o bot&o de reinicializagdo (3), o ponteiro do crondgrafo e os contadores serdo repostos a zero.

Vento cruzado (Crosswind)

1.

2.

Posicione a seta vermelha da luneta giratéria superior (C) nas 12 horas, através da coroa (B).
Regule a luneta giratéria inferior (E) para 0° através da coroa (D);

Obtenha a velocidade e a direc¢do do vento a partir de uma torre de controlo ou de uma carta do tempo.

Ex.: Velocidade do vento: 40 mph (milhas por hora)

Direcgéo do vento: 70°

Indique a direcgdo do vento (70) na janela através da luneta giratéria superior (C) regulando a coroa (B).
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3. Regule a luneta giratéria exterior (A) de modo a que um décimo da velocidade do avido seja indicado do
lado oposto a seta vermelha.

2(".!i | A
S

W\ 1O 1y, Ex.: Velocidade do avido: 180 mph — indica 18.

4. 4) A partir do mostrador geografico, calcule o azimute magnético do avido:
A variacéo (Var) depende da localizacdo actual, que pode ser fornecida por uma carta de aviagéo.

Var10°W

Se a variacdo (Var) estd para Oeste, esta é Se a variacdo (Var) estd para Este, esta é
adicionada ao mostrador geogréfico para obter o subtraida ao mostrador geogréfico para obter o
azimute magnético. Ex.: 30° 4+ 10° = 40° azimute magnético. Ex.: 30° - 16° = 15°

Tn: Norte Geografico | Mn: Norte Magnético | Var: Variagao
Ex.: Mostrador geografico: 30°

Variacéo (Var): 10°
Azimute magnético: 30° + 10° = 40°
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Ex.

Célculo do angulo de vento cruzado. (Crosswind Angle)

Direcgéo do vento: 70°
Azimute magnético do avigo: 40°
Angulo de vento cruzado: 70° - 40° = 30° vento de proa

70° - 40° =30°
vento de proa (Headwind)

180° -(380°-290%.=70°
vento de popa (Tailwind)

360°-(330%--40%) = 7Q°
vento de proa (Headwind)
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Ex.

Célculo de ventos cruzados:
Com base no gréfico (cartdo pléstico), determine o ponto de interseccdo da velocidade do vento
(componente do vento de proa/de popa) (Headwind/Tailwind Component) e o angulo de vento cruzado.

Partindo do ponto de interseccao, leia o valor do componente de vento cruzado (Crosswind Component)
no eixo horizontal.

Componente do vento de proa (Headwind Component): 40 mph
Angulo de vento cruzado (Crosswind Angle): 30°
Componente de vento cruzado (Crosswind Component) : 20 mph

Headwind
Component
HWC (mph)

@& A
Z
/)O'

50 g ] ¢
l o+ O
o v
40 T T N
L7 o
30 =
| ~N
/ Vil
o
10
L 80°
Crosswind
o Component
0 90 CWC (mph)
17 80°
0°
|\
30 B
\
)‘— T o
40 \’ \
7 o
505 &
o = o,
Taiwind ° S
Component
TWC(mph)
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Ex.:

Ex:

48

Calcule o angulo de deriva:
Localize o componente de vento cruzado (20) na luneta giratdria exterior (A) e leia o valor indicado na
luneta interior (C).

Angulo de derivacio: aproximadamente 6,5°

Célculo do azimute corrigido:
Se o vento estd a soprar da direita, adicione o angulo de derivacdo ao azimute magnético.
Se o vento estd a soprar da esquerda, subtraia o0 angulo de derivacdo ao azimute magnético.

Azimute corrigido: 40° + 6,5° = 46,5°

Para memorizar o valor, utilize a coroa (D) para indicar o azimute corrigido (46,5°) na luneta giratéria
interior (E), na parte inferior.
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Recomendacoes

A semelhanca de todos os outros instrumentos de precisao micro-mecanicos, o seu relégio Hamilton deve ser
submetido a um servico de manutencéo de dois em dois anos. O seu relégio deveré ser confiado exclusivamente
a um Agente Autorizado Hamilton. De modo a preservar a estanquecidade do seu relégio, certifique-se que as

juntas sao verificadas a cada manutencao.

A resisténcia a dgua do seu relégio é de 10 ATM = 100 metros.

Cinco regras basicas para preservar a estanquecidade do seu relégio:
Mande verificar o seu reldgio regularmente (uma vez por ano);

N&o manipule a coroa quando se encontrar dentro de 4gua;

Depois de um banho de mar, passe o seu relégio por dgua doce;

Seque o seu relégio sempre que este fiqgue molhado;

oA W=

caixa é aberta;

Mande verificar a resisténcia a 4gua do seu relégio num Agente Autorizado Hamilton, cada vez que a sua

O seu reldgio possui um mecanismo automético. Esse mecanismo inclui um rotor oscilante que faz girar a mola
mestra pelo movimento do seu pulso. A reserva de marcha é de aproximadamente 46 horas. Se necessario, a
corda do relégio pode ser manualmente restabelecida. A beleza interna do mecanismo do relégio pode ser

apreciada através da base da caixa com fundo a vista.
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1) Kroon tijd/datum/dag

2) Start/stop knop chronograaf

3) Reset knop chronograaf

4) 12 urenteller

5) 30 minutenteller

6) Kleine secondewijzer onafhankelijk van de chronograaf

A) Draaibare buitenring

B) Kroon voor het instellen van C

C) Bovenste draaibare binnenring

D) Kroon voor het instellen van E

E) Onderste draaibare binnenring
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Hamilton is bijzonder verneugd dat u een uurwerk uit haar
collectie heeft aangeschaft. U bent nu in het bezit van een
klein technologisch wonder dat u jarenlang trouw zal dienen.
Tijdens het fabricatieproces is van de meest geavanceerde
technologieén gebruik gemaakt en het horloge is aan
strenge controles onderworpen voordat het op de markt

werd gebracht.

Gebruiksaanwijzing

Het Hamilton Khaki Automatic X-Wind heeft drie schroefkronen en twee drukknoppen.
1) kroon voor het instellen van de tijd, de dag en de datum

B) kroon voor het instellen van de bovenste draaibare binnenring C

D) kroon voor het instellen van de onderste draaibare binnenring E

2) knop voor het starten en stoppen van de chronograaf

3) reset knop om de chronograaf op nul te zetten

Instellen van de tijd

— Draai de kroon los (1).

—  Trek de kroon geheel uit tot stand 1b.

—  Stel de tijd in door de kroon in de gewenste richting te draaien.
—  Druk de kroon opnieuw volledig in en schroef haar vast.

Instellen van de dag/datum

—  Draai de kroon los (1).

—  Trek de kroon uit tot de middenstand 1a.

—  Draai de kroon tegen de wijzers van de klok in tot de gewenste datum verschijnt, of volgens de wijzers van
de klok tot de gewenste dag verschijnt.
Gelieve deze manipulatie niet uit te voeren tussen 20.00 en 02.00.

— Druk de kroon opnieuw volledig in en schroef haar weer vast.
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Chronograaf functies 3. Geef één tiende van de snelheid van het vliegtuig aan tegenover de rode pijl op de draaibare buitenring

—  Door één keer op de start/stop knop (2) te drukken starten de wijzer en de tellers van de chronograaf. (A).

—  Door een tweede keer op de start/stop knop (2) te drukken stoppen de wijzer en de tellers van de
chronograaf.

—  Deze handelingen van de start/stop knop (2) starten en stoppen van de chronograaf zo vaak als nodig is = o A
om een totale tijd te meten. A7 W 19

—  Door op de reset knop (3) te drukken worden de wijzer en de tellers van de chronograaf weer op nul gezet. _ 7

Zijwind (Crosswind) V1O

1. Zet de rode pijl van de bovenste draaibare binnenring (C) op 12 uur met behulp van kroon (B). Vb Snelheid viiegti: 180 mph.- geof 19/aan.

; R ; E o
Stel de hrgf graaibare binnoriing (ENn op 0° met behulp an kroonD) 4. Berekenen van de magnetische ligging van het vliegtuig vanaf de geografische ligging:

De variatie (Var) hangt af van uw locatie. Deze kan met behulp van een luchtvaartkaart worden vastgesteld.

2. Raadpleeg de controletoren of de weerkaart voor windsnelheid en windrichting.

Vb. Windsnelheid: 40 mph (mijl per uur)
Windrichting: 70°

Geef de windrichting (70) aan in het venster van de bovenste draaibare binnenring (C) met behulp van

kroon (B). Indien de variatie (Var) westelijk is wordt deze Indien de variatie (Var) oostelijk is wordt deze van
aan de geografische ligging toegevoegd om de de geografische ligging afgetrokken om de
magnetische ligging te verkrijgen. magnetische ligging te verkrijgen.
Vb. 30° + 10° = 40° Vb, 30°- 156°=156°

Tn: Ware Noorden | Mn: Magnetische Noorden | Var: Variatie

Vb. Geografische ligging: 30°
Variatie (Var): 10°
Magnetische ligging: 30° + 10° = 40°
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6. Berekenen van de zijwind:
Bepaal het intersectiepunt van de windsnelheid (Headwind/Tailwind Component) en de hoek van de

zijwind (Crosswind Angle) met behulp van de graaf (plastic kaart).

5. Berekenen van de hoek van de zijwind (Crosswind Angle).

Vb. Windrichting: 70°

Magnetische ligging van het vliegtuig: 40°
Hoek zijwind: 70° - 40° = 30° (kopwind) Vanaf het intersectiepunt leest u de waarde van de zijwind (Crosswind Component) op de horizontale as.

N R N A N Vb. Kopwind (Headwind component): 40 mph
i a 30 g, B Hoek zijwind (Crosswind Angle): 30°
/ \ //‘\‘/70“\/ { T { Zijwind (Crosswind Component): 20 mph
/ /‘\w g Eﬁ SX Eﬁ yd \ Headwind
7 s Sl # . X 1 4 X Component
4. ¥ W ¥ h v, Y HWC (mph)
wi - TE wi X TE wh X TE o IS S
L e 4 / | 4 1 L ' 4 | o &
L ] % 7N / ‘\ ¢ 50 b &
=X Pa / / \, ] X Pa \, 7 4 @
/ \\ N </ // e . GO
SN L ;26" SN SN I 40 I /
s s s AR or A
30 =
§|
70° - 40° =30° 180° - (330° - 220°) = 70° 360° - (330° - 40°) = 70° ing
Kopwind (Headwind) Staartwind (Tailwind) Kopwind (Headwind) 20 o/ 70
L 80°
Crosswind
o Component
090 CWC (mph)
77 80°
20 X7 0°
\
IEAe= R
30
\
L :
40 Y = NS
X < G
50 —F 15 &®
o 2 %
Taiwind 2
Component
TWC(mph)
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Vb.

Vb.

56

Berekenen van de drifthoek:
Zoek de zijwind (20) op de draaibare buitenring (A) en lees de waarde die op de draaibare binnenring wordt
aangegeven (C).

Drifthoek: circa 6.5°

Berekenen van gecorrigeerde ligging:
Als de wind van rechts komt voegt u de drifthoek aan de magnetische ligging toe.
Als de wind van links komt trekt u de drifthoek van de magnetische ligging af.

Gecorrigeerde ligging: 40° + 6.5° = 46.5°

Om deze niet te vergeten kunt u de gecorrigeerde ligging (46.5°) met de kroon (D) op de onderste
draaibare binnenring (E) aangeven.
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Aanbevelingen

Zoals alle micromechanische precisie instrumenten dient uw Hamilton horloge tenminste om de twee jaar te
worden nagekeken. Vertrouw uw horloge alleen aan een erkende Hamilton dealer toe. U dient erop toe te zien
dat de waterbestendigheid van uw horloge bij elke controle wordt getest.

De waterbestendigheid van uw horloge is 10 ATM = 100 meter = 330 voet.

Vijf basisregels voor het behoud van de waterbestendigheid van uw
horloge.

O~ W=

Uw horloge is uitgerust met een automatische beweging. Het mechanisme van het horloge omvat een
oscillerende rotor die de hoofdveer door middel van polsbewegingen opwindt. De gangreserve bedraagt

Laat uw horloge regelmatig controleren (één keer per jaar).

Draai de kroon niet als u zich in het water bevindt.

Spoel uw horloge af wanneer u uit het water komt.

Droog uw horloge altijd af als het nat is.

Laat de waterbestendigheid van uw horloge elke keer dat de kast wordt geopend, door een erkende
Hamilton dealer controleren.

ongeveer 46 uur. Indien nodig kan het horloge met de hand worden opgewonden. De afwerking van het
binnenwerk van het horloge kan dankzij de transparante bodem worden bewonderd.
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1) Kopwva pvOuiong wpag Kat npepopunviag (npépa & pRvac)

2) KopBio €kKivnong/ oTapAaTHHATOG TOU XpOVoypAagou

3) KopBio pndeviopou Tou xpovoypdgpou

4) MetpnTAG 12 wpwv

5) MeTpnTi 30 AemTWV

6) Mikpdg SeutepolenTodeikTng ave§dpTNTOog Amod To Xpovoypd®po

A) EEWTEPIKN TEPICTPEPOUEVH OTEPAVN

B) Kopwva yia tn puOuion tng otepavng C

C) AV EOCWTEPIKN TTIEPICTPEPOMEVN OTEPAVN

D) Kopwva yta tTn puOuion tng otepavng E

E) KaTw ECWTEPIKN TEPIOTPEPOUEVN OTEPAVN
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H HAMILTON ek@ppddel tn peyain Xapd tng yla tTnv amd@acr oag va emAEEETE
€va poAOL ammd auTrv TN SUANOYN TNG. EXETE ATTOKTAOEL VA UIKPO TEXVOAOYIKO
Bavpa mou Ba cag umnPETRoEL TMOTA Yia TOAAA Xpdvia. Ot TTIo TTPONYUEVES
TEXVONOYieC XxpnolpomoliOnkav og ONEG TIC PACELC KATAOKEUNG TOU POAOYIOU
auTtoU TTou UTIOPBARBNKE OTOUG AUOTNPOTEPOUC EAEYXOUG TTOIOTNTAG TTPOTOU Va

PTACEL OTA XEPLA OAG.

Odnyiec xpriong

To poAdé1 Hamilton Khaki Automatic X-Wind SiaBétel tpeig BidwTég kopwveg kat SUo kouBia mieonc.
1) KOPWVA Y1a TN pUBUION TNG WPAG KAt TNG NUEPOMUNVIAE (NUEPA Kal Hvag)

B) KOPWVA Y1a TN pUBUION TNG AVWw ECWTEPIKNG TTEPIOTPEPOUEVNG OTEPAVNG C

D) KOPWVA YLa TN pUBUION TNG KATW ECWTEPIKNG TTEPIOTPEPOUEVNG OTEQAVNG E

2) KoMBio yla TNV eKKivnon Kal To oTapdtnua Tou Xpovoypdeou

3) KOMBIo yla TNV EMOTPOPN) 0TO UNGEV (UNSEVIOUO) TOU XPOVOYPAPOou

Pqulon ™meg wpag
ZeB18WOoTE TNV Kopwva pubuiong (1).
- Tpapréte TNV Kopwva TeEAEIwG TTPOG Ta €§w, péxpt T Béon (1b).
- PuBpioTe TNV Wpa OTPEPOVTAG TNV KOPWVA TTPOG TNV EMOUUNTH KatevBuvon,.
- MiéoTe TNV Kopwva MARPWE Tow oTn B€on ¢ Kal BIdwoTe Tnv avd.

Puewon ™E npepounviag / npépag
ZeB18woTe TNV Kopwva pubuiong (1).

- Tpapnte mpog Ta €€w TNV Kopwva, péxplL Tnv evdiapeon Béon (1a).

- STPEPTE TNV KOopWwva avTiBETa TMPOG TN Yopd Twv SEIKTWV TOU POAOYIoU HEXPL VO EUPAVIOTE( N
£mMOUUNTH NUEPOUNVIA, 1} CUPPWVA LE TN POPd TWV SEIKTWV TOU POAOyIoU, yla Tn pUBUION TNG NUEPAG.
Mapaka\oUUE punv paypaTomoleiTte auTr Tn pUOMIoN pHeTagl 20:00 kat 02:00 (8 p.p. Kat 2 T.JL).

- MiéoTe TV Kopwva MARPWE Tow oTn B€on ¢ Kat BIdwoTe Tnv avd.
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Nertoupyieg Tou Xpovoypagpou 3. PuBpiote TNV e€wTePIKN TEPIOTPEPSUEVN OTEPAVN (A) £TOL, WOTE AMEVAVTL ATTO TO KOKKIVO BENOC va
- Mélovtag pia mpwtn Popd To KOUPio EKKiVNONG/ OTAMATAMATOG (2), 0 SeiKTNG KAl Ol HETPNTEG TOU TomoBeTeiTal n €vOEIEn Tou VO SeKATOU TNG TAXUTNTAG TOU AEPOCKAPOUG,.

Xpovoypda@pou TiBevtal o€ kivnon (évap&n pétpnong).
- Mélovtag yia Seutepn Popd To KopPio ekkivnong/ oTtapatripatog (2), o SeiKTnG Kat ot HETPNTEG TOU A

XPOVOYPAPOU CTAUATOUV.

- A1adox1Koi XEIPIOPO{ TOU KOUBiou EKKIVNONG/ OTAUATHHATOG (2) EKKIVOUV KAl GTAHATOUV TO XPOVOYPAPO
O0EG POPEG Eival amapaitnTo yla tn HETPNOTN TOU GUVOAIKOU XPOVOouU.

- MéCovtag To KopPio pndeviopou (3), o SeiKTNG Kal Ol HETPNTEG TOU XPOVOYPAPOU EMOTPEPOUV OTO

unGév.
MAdytog avepog (Crosswind) My  Taxotnta agpookagoug: 180 mph - évbeién = 18.
1. TomoBeTeioTe TO KOKKIVO BENOC TNG AVW ECWTEPIKIG TIEPIOTPOPIKAG 0TEPAVNC (C) 0N Béon wpa 12, e
pUBMION amé tnv kopwva (B). 4. ATO TN yewypa@ikny B€on (YEWYPOAPIKO UAKOC), UMOANOYIOTE TN MAYVATIKA amdékAion Tou
PuBuiote Tnv KATW E0WTEPIKN TTEPIOTPOPIKH OTEPAVN (E) 0TIG 0°, pe pUBUION amod Tnv Kopwva (D). EPOOKAPOUC:
H amokhion (Var) e€aptdtatl amd v tpéxouca B¢on (oTiypa), n omoia pmopei va mpoodloptotei and évav
E AgPOTTIOPIKS XAPTN.

2. MAnpogopnbBeite yia TV TaxvTnTa Kat T S1e¥0VVON Tou AvEROU &iTe Ao Tov TUPYO ENEYXOU EiTE
amé TO METEWPOAOYIKO XAPTN.

My.  Taxotnra avépou: 40 mph

AwebBOuvon avépou: 70° Av n amdkhon (Var) eivat mpog Tn Auvon, Av n amdékhion (Var) eivat mpog tnv Avatolr,

TIPOOTIOETAl  OTNV  EKPPACHEVN OF  HOIPES agalpeital and TNV EKPPACHEVN O  HOIPEC
Me ThV VW ECWTEPIKK TIEPICTPEPOUEVN OTE@AVN (C), TomoPeteiote TNV €vdeiln e S1evBuvang Yewypa@ikn B£on yia va MPOKOYEL N HayvNTIKA  vewypagikr 6éon yia va POKOYEL N payvnTkn
avépou (70) oto e181kd TapdBupo [puBIoN and TNV kopwva (B)]. amokhon. M.x. 30° + 10° = 40° anékhion. MN.x. 30°-15°=15°

Tn: Fewypa@ikog Boppdg | Mn: Mayvntikog Boppdg | Var: Amdkhion

M.x. Tewypa@ikn Béon (yewypapiké pnkoc): 30°
Amokhion (Var): 10°
MayvnTiki amékAion: 30° + 10° = 40°
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M.x.

62

YroAoylopog Tng ywviag mAdaytov avépou (Crosswind Angle). 6. Ymohoylopog Tou mAayiov avépou:

Me xprion Tou SlaypAppaTtog (MAOTIKN KAPTa), KaBopioTe TO ONME0 TOUAG TNG TAXUTNTAG AVEHOU
AevBuvon avépou: 70° (ouviotwoa avtiBetou/ oUplov avépou - Head/Tailwind Component) kat TG ywviag mhayiou avépou

MayvnTikr) ammokMon agpookagouc: 40° (Crosswind Angle).
Fwvia mAayiouv avépou: 70° - 40° = 30° (aVTIOETOG HETWTTIKOG AVEMOG)
avépovu (Crosswind Component).

33,9:\ /jo‘ . 40° My  2uviotwoa avtiBetou avépou (Headwind Component): 40 mph
// < \”\\ Twvia mayiou avépou (Crosswind Angle): 30°
£ . 4\«‘ Tuviotwoa mAayiov avépou (Crosswind Component): 20 mph
wJ; \x/ + £ Headwind
! g\ / Component
X AN e HWC (mph) .
L NS e - &
< S\ e v & S
o e X 50 = I
40 [ .
70°-40°=30° 180°-(330°-220°) =70° 360° - (330° - 40°) = 70°
(avtiBetog Avepog - Headwind) (oUptog dvepog - Tailwind) (avtiBetog Avepog - Headwind)
o
L 80°
Crosswind
o Component
090 CWC (mph)
17 80°
20 0°
\
(AP A
30 N
\
)‘—’ — 0|
40 Y = s >
& &
%o VX 2 s ACH
s 2 ° s
Tailwind  ° 2
Component
TWC(mph)
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Me kdBeto amé 1o onpeio Toung, Slafdote otov oplldvTio dfova TNV TIn TG CUVICTWOAG TAayiov
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M.x.

M.x.
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YTIOAOYIOHOG TNG YWViag EKTPOTNG:
Bpeite TV évdeI€n tng ouvioTwoag MAayiou avépou (20) oTnV eEWTEPIKN TIEPIOTPEPOUEVN OTEPAVN (A)
Kat S1aBACTE TNV TIPA TNG YWViag EKTPOTING OTNV ECWTEPIKNA oTEPAvN (C).

Fwvia ekTpomn¢: mepimou 6.5°

Ymoloylopog SiopOwpévng Oéong:
Av 0 Avepog mvéeL amod Ta Se€id, TPOOOECTE TN YWVIa EKTPOTIAG OTN HAYVNTIKK AmOKAION.
AV 0 AVEUOG TIVEEL OTTO TA APLOTEPQ, AQAIPEDTE TN YwVia EKTPOTAC amd Tn YayvNTIKN amokALon.

Ao0pOwpévn Béon: 40° + 6.5° = 46.5°

Mo amopvnUOVELON, XPNOILOTIOLEIOTE TNV Kopwva (D) yia tnv évdeién Tng StopOwpévng Béong (46.5°)
OTNV KATW ECWTEPIKN TTEPIOTPEPOEVN oTepavn (E).
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JUOCTACEIG

‘Onwg OAa Ta PIKPO-HNXavIKA 6pyava akpiBeiag, To pohdt Hamilton Ba mpémel va eAéyxeTal TOUNGXIOTOV KABE
SVo xpovia. EumioTeuTeite To PoAdL 0ag HOvo o€ £60UCIOSOTNUEVOUG AVTITPOOWTOUG TN Hamilton. Na va
TIOPAPEIVEL TO PONOL 0aG adiappoxo, BePaiwbeite 0TI o€ kKABE éNeyxo e€eTdleTal & uOBANETAL OE SOKIPEG TO
ovotnua adlafpoxomoinong.

To poAd1 oag givat adidppoxo péxpt mieong & BéBoug 10 ATM = 100 m = 330 ft.
Mévte Baoikoi Kavoveg yia va Statnproste To poAdl oag adiaBpoxo

ENéyXETE TO POAOL 0OG TAKTIKA (Hial @OPd TO XpOVO).

Mnv Kiveite TNV KOpWVA OTAV €I0TE PECA OTO VEPO.

ZeMAOVETE TO PONOL 0AG PETA amd To Umavio otn Bakacoa.

ZTEYVWOTE TO POASL 0aG 6Tav Bpayei.

Kd&Be popd mou avoiyetal n kGoa Tou, To PoAdL Ba TpEmel va eAéyxeTal we TPOG Tnv adlaBpoyomoinon
Tou amnod e§ouctodoTtnuévo avTimpoowro Tng Hamilton.

LAhwN =

To poAdl oag SlaBETEL AUTOHATO UNXAVIORO AgtToupyiag. O pnxaviopdg Tou poloylol mepappavel éva
TOAQVTOUUEVO TIEPIOTPOPIKG cUOTNHA avTiBapou mou Koupdilel To KIvnTrPplo EAATAPIO HECW TNG Kivhong Tou
KapmoL Tou Xeplou oag. To amdBepa Kivnong - Aertoupyia Xwpig koupdiopa - gival, Tepimov, 46 wpeg. Av ival
anapaitnTo, UMmopeite va koupdioeTe To poAdL oag xelpokivnTta. Méow tng Sid@avng MAATNG TN KAOAG UMTOpPE(TE
va BAUHAECETE TNV OHOPPLA TNG KIVNONG TOU ECWTEPIKOU PNXAVIGHOU TOU POAOYLIOU G,
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1) 3aBopaHan ronoska AnNA yCTaHOBKU BpeMeHu/aaTbl/aHA ®upma Hamilton papa, 4to Bbl Bbibpanu 4ackl U3 ee Konnexkuun. Bl

nprobpeny ManeHbKoe TEXHNYECKOE Yyao, KOTOPOe BEPOW 1 NpaBaon

2) K all
)|KHanka aaflycka/ograHpekN XRoHorparka 6y,u,eT CNY>XWUTb Bam MHorue rogbl. I'Ipm ero n3rotTosneHunn

NpUMeHANNCb CaMble nepenoBble TeXHONOrMn, 1 OHO NoABepPrNioChb

3) KHonka c6poca cocToAHMA XpoHorpada
CTPOromMmy KOHTPOO nepen TeM, Kak 6bIno BbiNyLeHO B nNpoaaxy.

4) 12-yacoBoW CHETYUK

WHCTpYKUMU NO NPUMEHEHUIO
5) 30-MMHYTHbIN CHETYUK

Hapy4Hble yacbl Hamilton Khaki Automatic X-Wind nmetoT Tpu 3aBrHYMBatoLLMECA 3aBOAHbIE rONOBKMN
6) He3aBucuman ot xpoHorpaca ManaA ceKyHAHaA cTpenka 1 OBE HaXXUMHble KHOMKM.

1) 3aBoAHaA ronoBka Af1A YCTAHOBKW BPEMeHW, AHA HeAenu 1 aatbl

B) 3aBogHanA ronoBka AnA perynupoBKu BepXHEro noBopoTHoro 6esena C

D) 3aBogHanA ronoBka AnA PerynmpoBKM HUXXHEro noBopoTHoro 6esend E

2) KHOMKa AnA 3arnycka n 0CTaHOBKW XpoHorpada

3) KHomMKa anA cbpoca xpoHorpada Ha HoMb

A) Hapy>XHblii NOBOPOTHbIN 6e3enb YcTaHOBKa BpeMeHH
—  OTBMHTUTE YCTaHOBOYHYIO 3aBOAHY!O ronoBsky (1).
- TlonHOCTbIO BbITAHWUTE 3aBOAHYIO rOMIOBKY B nonoxeHue 1b.

B) 3aBoaHaA ronoeka anA perynuposku C - YcTaHoBUTE BpemA, NMOBOpaYvBanA 3aBOAHYIO rONoBKY B TPebyeMOM HanpasneHuu.
- TTONHOCTBIO YTONUTE 3aBOAHYIO FONOBKY, 3aTEM CHOBA 3aBUHTUTE €e.

YcrtaHoBKa patbl / AHA

—  OTBMHTUTE YCTaHOBOYHYIO 3aBOAHY!O ronoBsky (1).

—  BbITAHMTEe 3aBOAHYIO rONOBKY B MPOMEXYTO4HOE nonoxeHue 1a.

—  [NoBopauuBaiitTe 3aBOAHYIO rOIOBKY NPOTVB 4aCOBOW CTPENKM [0 TeX Mop, Noka He NoABnUTCA
Tpebyeman nata, IM60 Mo 4acoBOW CTPENKM 40 NoABMeHnA Tpebyemoro AHA. He BbinonHANTe
37O onepauunn Mexxay 20.00 1 02.00 (8 nocne nonyaHa v 2 A0 NOnyaHA).

- TMonHocTbio yTONUTE 3aBOAHYIO FOMIOBKY, 3aTeM CHOBa 3aBUHTUTE ee.

C) BepxHuii BHyTPEeHHMU1 NOBOPOTHbIN 6e3enb

D) 3aBoaHanA ronoska AnA perynuposku E

E) HWKHUI BHYTpEeHHUI NOBOPOTHbIN 6e3enb
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3. YcTaHoBUTE Hapy>XHbIi MOBOPOTHbIN 6e3enb (A) Takum 06pa3om, 4To6bl OaHA AECATaA CKOPOCTU
camoreTa 6blna ykaszaHa HanpoTvB KpPacHOW CTPEnku.

A

tDyHKuMu XpoHorpada
MepBoe HaxxaTne Ha KHOMKY 3anycka/oCTaHOBKM (2) 3anyckaeT CTPenKy 1 CHETYUKN
XpoHorpada.

- Bropoe HaxaTue Ha KHOMKyY 3arycka/oCTaHOBKM (2) OCTaHaBIMBAET CTPENKY U CHETHUKM
XpoHorpadpa.

- Mocnepytowme HaxaTA HA KHOMKY 3arycka/oCTaHOBKU (2) 3amnycKaloT 1 ocTaHaBnMBaloT
XpoHorpac CTONbKO pas, CKOMbKO TpebyeTcA AnA U3MEPEHUA NMOMHOTrO BPEMEHMU.

- Haxatue Ha kHonKy cbpoca (3) copacbiBaeT CTPEnKy U CHeTHNKM XpoHorpada Ha Hosb.

BokoBo#n BeTep Mpumep:  CkopocTb camoneta: 180 mph (Munb B Yac) — ykaxute 18.
1. lNomecTuTe KpacHylo CTpenky Ha BepPXHeM BHyTPEHHeM NoBOPOTHOM 6e3ene (C) npoTus undpsl
12 Ha undpepbnare 4acos, NPON3BOAA PEryNIMPOBKY 3aBOAHOM rofoBKoi (B). 4. A3 reorpachyeckoro asumyTa BbIUUCIUTE MarHUTHBIN a3UMyT camorneTa:

CKIIOHEHWE MarHUTHoOM CTpenkun (Var) 3aBUCUT OT TeKyLlero MecToOHaxoXXeHuA, KOToOpoe MOXXHO

BbicTaBbTE HUXXHWIA BHYTPEHHUIA MOBOPOTHbLIN 6e3enb (E) Ha 0°, npon3BoaA perynmpoBKy
onpeaenvTb No aBUaLMOHHO KapTe.

3aBoaHow ronoekon (D).
9U

| g g |
5

pers
e

—
Y

kS
=
[
]

3----

Var10°W ¢ Var15°E
2. [lonyynTe CKOPOCTb 1 HanpaBieHMe BeTpa 13 KOHTPOSIbHO-ANCNETHEPCKOro NyHKTa unu 13 4 b
CBOJKM Morofbl. 1/
\ I
Mpumep:  CkopocTb BeTpa: 40 mph (Munb B Yac)
HanpaBnenue Betpa: 70°
Ecnun mariutHoe cknoHenwue (Var) 3anapgHoe, Ecnu marHuTHOe cknoHeHwue (Var) BOCTOYHOE,
YKkaxuTe HanpaBneHue BeTpa (70) B OKHe Npu NOMOLLN BEPXHErO BHYTPEHHEro NoBOPOTHOMO TO ANA NOMy4eHnA MarHTHOro asumyTa OHO TO ANA NONy4YeHnA MarHNTHOroO asMMyTa OHO
6esena (C), NPON3BOAA PErynMpoBKY 3aBO/HOW rONIOBKOW (B) pobaBnAeTcA K reorpanyeckomy asmmyTy. BblYMTaeTCA U3 reorpacuyeckoro asvmyTa.
Mpumep: 30° + 10° = 40° Mpumep: 30° - 15° = 15°

Tn: VicTuHHbIA ceBep | Mn: MarHuTHbI ceBep | Var: MarHutHoe ckrnoHeHue

Mpumep:  Teorpadpuyeckmii asmmyT: 30°
MarHuTHoe cknoHenue (Var): 10°
MarHuTHbI asumyT: 30° + 10° = 40°
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5. Bbluncnenve yrna 6okosoro BeTpa. 6. PacueT BnuMAHMA 60KOBOro BeTpa:
Mcnonbsya rpaduk (NNacTnkosyto KapTy), onpeaenvTe ToYKy nepecev4eHnsa CKOpocTn BeTpa

Mpumep: Hanpasnexue BeTpa: 70° (BCTpe4HaA/nonyTHaA cocTaBnAlowWanA) 1 yrna 60koBoro BeTpa
MarHuTHbIn asumyT camoneta: 40°
Yron 6okoBoro Betpa: 70° - 40° = 30° (BCTpeYHbIil BETEP) Mcxona u3 To4KU nepeceyveHus, npoumTanTe BeNMUMHy 60KOBOV COCTaBnAoLWEN Ha
rOpV30HTasNbHOW OCU.
Mpumep:  BceTpeyHana coctasnaowan: 40 mph (Munb B Hac)
yron 6okoBoro BeTpa 30°
BokoBasa coctaBnawowan: 20 mph (Munb B 4ac)
Headwind
Component
HWC (mph)
o & o S
21§ /S
20 iR . o
40 H N
L7 AR
70° - 40° = 30° 180° - (330° - 220°) = 70° 360° - (330° - 40°) = 70° 30 i
(BCTpPEYHbI BETEP) (monyTHbIA BETEp) (BCTpeYHbIN BETEP) . [ri;
< TQ"
L 80°
Crosswind
o Component
090 CWC (mph)
7 80°
20 0°
\
\ I o
30 N
\
L’ — 5|
40 .Y = NS
& ¢
50— 87
o8 &
Tailwind ° 2
Component
TWC(mph)
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7. BblaucnuTe yron cHoca:

OnpepennTte cocTasnawLwyo 60koBoro Betpa (20) Ha Hapy>XHOM MOBOPOTHOM 6esene (A) un

cyuTanTe 3Ha4YeHne Ha BHyTpPeHHeM noBopoTHom 6esene (C).

lMpumep:  Yron cHoca: npubnnanTensHo 6,5°

8. Pacyet asumyTa Cc NonpaBKoOA:
Ecnun BeTep ayeT cnpaga, To fob6aBbTe yron cHoca K MarHUTHOMY asuMyTy.
Ecnu BeTep ayeT cnesa, TO BbI4TUTE Yron CHOCA M3 MarHUTHOMO asnmyTa.

Mpumep:  A3umyT c nonpaBkoW: 40° + 6,5° = 46,5°

[inA coxpaHeHWA pe3ynbTaTa Ucnonb3ynTe 3aBoaHyto ronosky (D), 4Tobbl ykasaTb a3sumMyT C
nonpaBKoWi (46,5°) Ha HUKHEM BHyTpeHHeM NoBopoTHoM 6e3ene (E).
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PekomeHaauuu

Kak 1 Bce MMKpoMexaHn4eckmne NpeLmn3noHHble MHCTPYMEHTbI, Bawm Yacbl hupmbl Hamilton aormxHbl

nopBepraTbCA NPOBEPKe He pexxe OAHOro pasa KaxAble ABa roaa. [loBepAiTe Balln Yacbl TONbKO
YyNONMHOMOYEHHOMY npeacTasuTento hupmbl Hamilton. [inA Toro 4Tobbl Balwm Yackl ocTaBanucb
BOJOCTOVKUMU, y6eauTeCh B TOM, HTO YNNOTHUTENbHbIE 3M1EMEHTbI UCMbITLIBAIOTCA MPU KaXkAon
npoBepke.

BopocToiikocTb Balumx Yacos obecneunBaetca npu 10 ATM = 100 meTpos = 330 ¢yToB.

MATb OCHOBHbIX NpaBu AnA obecneyeHUnA BOAOCTOMKOCTM BallMX YacoB
PerynapHo npoBepaiiTe Yackl (04AWH pas B roa)

He nepewmeluaiite 3aBOAHYIO rONOBKY, Koraa HaxoAMTeCh B BoAe

MpomoiiTe Yackl nocne npebbliBaHWA B MOPCKON BOAE.

MpocywwuTe Yackl, eCnn B HWX Nonana snara.

Kaxxaplii pa3 nocne BCKPbITUA KOpryca BbIMOMHANTE NPOBEPKY BOAOCTOWKOCTM Yacos,
obpalyanAck K ynonHOMOYEHHOMY npeacTasuTento hupmbl Hamilton.

N

Balum yackl cHab>eHbl yCTPOMCTBOM aBTonoa3asoaa. MexaHnsm 4acoB coaepXuT B cebe
KayatoLMIiCA pOTOP, KOTOPbI 3aBOAWT XOAO0BYIO MPY>XXWHY 3a CHET ABVXKEHUIA BaLLero 3anACTbA.
3anac xoaa coctaBnAeT NpUGNU3nTENLHO 46 Yacos. Mpy HEOH6Xo0ANMOCTH Yackl MOXHO 3aBECTH
BPY4Hyto. Monto6oBaTbCA KPacoTow AENCTBUA BHYTPEHHEN MEXaHUKM YacoB MOXHO Yepes
npo3payHbIi ¢ 06paTHON CTOPOHbI KOPMYC.
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1) korunka pro nastaveni ¢asu/data/dne v tydnu Firma Hamilton je potéSena, Ze jste si vybrali hodinky z jeji kolekce.
Ziskali jste maly technologicky div, ktery vam bude vérné slouzit po

2) tlacitko pro spusténi/zastaveni stopek . Do ) oL )
mnoho let. V celém procesu jejich vyroby byly pouzivany nejmod-

3) tlaéitko pro vynulovani stopek erngjsi technologie a pred uvolnénim k prodeji proSly pfisnym

testovanim.
4) gita¢ 12ti hodin

5) ¢ita¢ 30ti minut Navod k pouziti

Hodinky Hamilton Khaki Automatic X-Wind maji tfi Sroubovaci korunky a dveé tlacitka.
1) korunka pro nastaveni ¢asu, dne v tydnu a data

B) korunka pro nastaveni horniho vnitfniho oto¢ného krouzku C

D) korunka pro nastaveni dolniho vnitfniho oto¢ného krouzku E

2) tlacitko pro spusténi a zastaveni stopek

3) tlacitko pro vynulovani stopek

6) mala sekundova rucka nezavisla na stopkach

Nastaveni casu
A) vnéjsi oto€ny krouzek - Uvolnéte vysroubovanim nastavovaci korunku (1).
—  Vytahnéte korunku zcela do polohy (1b).
— Nastavte Cas otacenim korunky v poZzadovaném smeru.
—  Korunky Uplné zasurite nazpét a pak ji znovu dotahnéte zasroubovanim.

B) korunka pro nastaveni C

Nastaveni data a dne v tydnu
P S L . - Uvolnéte vySroubovanim nastavovaci korunku (1).
C) horni vnitfni oto¢ny krouzek —  Vytéhnéte korunku do mezipolohy (1a).
—  Oftéacejte korunkou proti sméru otaceni hodinovych ruciéek, dokud se neobjevi pozadované datum,
nebo ve sméru otaceni hodinovych rucic¢ek pro nastaveni pozadovaného dne v tydnu. Tuto operaci
D) korunka pro nastaveni E neprovadéjte mezi 20:00 a 02:00 (8 hodinami odpoledne a 2 hodinami rano).
— Korunku UpIné zasunte nazpét a pak ji znovu dotahnéte zasroubovanim.

E) dolni vnitini otoény krouzek
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Funkce stopek 3. Nastavte vngjsi otocny krouzek (A) tak, aby desetina rychlosti letadla byla zapsana proti Cervené

- Prvnim stiskem tlagitka pro spusténi a zastaveni (2) spustite ruci¢ku a itace stopek. Sipce.

—  Druhy stisk tlacditka pro spusténi a zastaveni (2) rucicku a Citace zastavi.

— Nasledné operace s tlacitkem pro spusténi a zastaveni (2) spusti a zastavi stopky tolikrat, kolikrat
bude tfeba ke zméfeni celkového Casu.

- Stiskem tlagitka reset (3) vratite rucicku stopek na nulu a vynulujete &itace.

A

Boéni vitr

1. Umistéte ervenou Sipku horniho vnitfniho oto¢ného krouzku (C) na 12. hodinu pomoci korunky (B).
Nastavte dolnf vnitfni otoény krouzek (E) na 0° pomoci korunky (D).

Napt.: rychlost letadla: 180 mph (mil za hodinu) — udejte 18.

E 4. Pomoci zemépisného zamémého bodu vypoctéte magneticky azimut letounu:

2. Zjistéte sirychlost a smér vétru z fidici véZe nebo z povétrnostni mapy. Varl§w
ar )
Napfr.: rychlost vétru: 40 mph (mil za hodinu)
smér vétru: 70° i

Udejte smér vétru (70) do okénka horniho vnitfniho otocného krouzku (C) pomoci koruny (B).

Je-li odchylka (Var) k zapadu, pricte se k Je-li odchylka (Var) k vychodu, odecte se od
zemeépisnému zamérnému bodu a vysledkem je zemeépisného zamérného bodu a vysledkem je
magneticky azimut. Napf. 30° + 10° = 40°. magneticky azimut. Napf. 30° -15° = 15°.

Odchylka (Var) zavisi na aktualni poloze, kterou Ize zjistit z letecké mapy.

Tn: skutecny sever | Mn: magneticky sever | Var: odchylka

Napt.: zemépisny zamérny bod: 30°
odchylka (Var): 10°
magneticky azimut: 30° + 10° = 40°
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5. Vypocet thlu boéniho vétru (crosswind angle) 6. \Wypocet boéniho vétru:
S pouzitim grafu (plastova kartiéka) stanovte bod priiseciku rychlosti vétru (slozka protivétru/vétru do

Napf.: smér vétru: 70° zad — head/tailwind component) a Uhlu bo¢niho vétru (crosswind angle)
magneticky azimut letadla: 40°
uhel boéniho vétru: 70° - 40° = 30° (protivitr) Vychézejice z bodu priseciku odectéte hodnotu slozky boéniho vétru (crosswind component) na
vodorovné ose.
330 ,iﬂ,,\_ 3 Napt.: slozka protivétru (headwind component): 40 mph (mil za hodinu)
< /7o°\“\/\‘ Uhel bo¢niho vétru (crosswind angle) 30°
Ja Q y g slozka boéniho vétru (crosswind component): 20 mph (mil za hodinu)
/ \ // \ Headwind
[ N | C t
e
2 // \\\ a o 2 9 . e{i\‘\b
S/ A 50 fr—fs= e
200X Vi s o
S 40 I_ / 4
7 RN
70° - 40° = 30° 180° - (330° - 220°) = 70° 360° - (330° - 40°) = 70° 30 =
(protivitr - headwind) (vitr do zad - tailwind) (protivitr - headwind) /1,
20 = 10°
L 80°
Crosswind
o C t
0 90° S {mon)
1 80°
20 0°
\
\ I 3
30 i
\
L’ T 0|
40 N = s
S
50 A ~ aB b“e
o = %o »
Tailwind ° 2
Component
TWC(mph)
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Vypocet thlu snosu:
Najdéte slozku boc¢niho vétru (20) na vnejsim otocném krouzku (A) a odec¢téte hodnotu udanou na
vnitfnim krouzku (C).

Napt.: Uhel snosu: cca 6,5°

Vypocet opraveného zamérného bodu:
Jestlize vitr fouka zprava, prictéte Uhel snosu k magnetickému azimutu.
Jestlize vitr fouk& zleva, odectéte Uhel snosu od magnetického azimutu.

Napt.: opraveny zamérny bod: 40° + 6,5° = 46,5°

Pro ulozenf udajdl pouZijte korunku (D) k zadéni opraveného zamérného bodu (46,5°) na dolnim
vnitfnim oto¢ném krouzku (E).
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Doporuceni

Jako v8echny presné pfistroje na bazi jemné mechaniky by i vase hodinky Hamilton mély byt kontrolovany
alespon jednou za dva roky. Svéfujte své hodinky pouze opravnénym zastupctim firmy Hamilton. Aby si
va$e hodinky zachovaly svou vodotésnost zabezpecte, aby byly jejich tésnici viastnosti pfezkouseny pfi
kazdé kontrole.

vodotésnost vasich hodinek je 10 ATM = 100 M = 330 stop.

Pét zakladnich pravidel, jak zachovat vodotésnost

Davejte si své hodinky pravidelné zkontrolovat (jednou ro¢né).

Nepohybuijte korunkou, kdyz jste ve vodeé.

Po pobytu v morské vodé své hodinky oplachnéte.

Kdykoliv se vase hodinky namoci, osuste je.

Kdykoliv dojde k otevreni pouzdra hodinek, dejte si své hodinky proveéfit na vodotésnost u zastupce
firmy Hamilton.

g W=

Vase hodinky jsou vybaveny automatickym strojkem. Mechanismus hodinek obsahuje kmitavy rotor, ktery
natahuje hlavni pero pohybem vaseho zapésti. Provozni zéloha ¢inf asi 46 hodin. V pfipadé potfeby Ize
hodinky natdhnout ru¢né. Krasu vnitfnino provozu pohonu hodinek Ize obdivovat prihlednym zadnim
vickem.
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1) BB BE LTS Ua=X SOREVENIINEYDA—F A= T 100 X-D4 2V REBBW EIF N
EEBYMBESSTNELE, COBHERVEEBLTHEEN LS
T BN BALTF U REBED N UET. o85S TIRICIE R
B EE N, A RERRESEASTON THUET.

2) Y0/ USTRRY—b /Ay TRV

3) o0/ STRAYEY RS Y

4) 128NV —

5) 303 hU 5 — ER5e

6) Bt NI RS DH—F A—hTF 490 X - 94V RICIF3DDRCAZR Y1 —XE2DDT v 2Ky » hsfEb-
TWET.
(12, BB BLURR Oy T2 5 Ua—X
(B) 7y 7 HAREERA > F— AL (C) DFABY 21— X
(D) A—H A REIEERA > F— I (E) DFFEEY 21— X
(2)o0/057RARI—N/ Ay T K>
STRUEY R A

A) AERTHS—REIL QR)on/I>7RAEeyk Ky
B % DI

TyTFA Va—X () EELTAYIERBRLUET,
— Ya-X£(Ob)QREETIEHLET.
— Ja-XEBREOFEICELANSSERERELET, .
— Ya—-XEBUTyaLTROMEBLEL, OvssndETELES.

B) CH%Ya1—X

C) 7y 7Y A REIER A F—EN
EH'I/IEEI@..E%
TyTA T Ua—X (N ZRLTAYIERRUET,
D) EfA®Ya—X — Ua—XEHEAE (1a) ETIEHLETS.
— BfHIVa—XEREFEYIC.ELBRIZY21—X &R EVICE L THELET, COREIIFEREF[FNS
FRI2BE TORRB®ECIZTHRNTEZS,
E) O—YAREERSF—NEIL = Ya—XEBUVTy 2L TROMEICRL. OvIsINdETRUET.
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A=V

- RI—NSRMT REV(QET v aTBEIO/ITTENTE—EBILET .

— BURG—NRNT REY (@ ETYaTNEIO/ISTENDILE— BRI TLET
- LROBFEAELBUBLEDSSN—SILI(LEFANTEENTEETS,

- UtkybREYB)ETviadhEon/F57END0 54— [P OICRYET.

YORD1 2 RaHRIBEE
1) Ua—X(B) TRELENSTYTHARRERA VT — LI (C) DFRNKENZ12B(CEDEET.
RICV2—X (D) THRELESSO—YARRERA > F -t (E) £0° [CEDEET.

2) BEELABESKRECRIRGELBLOTANES,

Bl X : 40 mph(XA)LEE)
Em : 70°

Ja—X(B) TRELENST Y THAREERA > F—XE)L(C) TUAVRDOFICEM (70) £RRLET.
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3) HROKHOEBEICEEATVE—NEIL(A) TREHEDRE (Mph=T/LEFH) £109 D1 TRRLET.

Bl FRZEOZEE : 180 mphDiF&F18E KRR,

4) HEBLEILEOBENSHARAELFHLET:

fRZ=(Van FREMECI > TRBUEST B MEREOLICRETHILENTEET,

fRZE (Var) A RODSEF. L EILEDBE
ICEDHIEEZNA HRIRAEEZFELET.
5] : 30°+10°=40°

Tn: REOEL Mn: Bt Var: RE
Bl SEEEIEDOABE : 30°

fR#=(var) : 10°
HRRAZE :30°+10°=40°
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1R (Van) SEAADBAL. $HEEEEILEDRE .
PEEOHIBES|E WARAEEHALET.
5 : 30°—=15°=15°
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5)

i

86

Y0RY4> R (Crosswind Angle) DEtH

Em : 70°
MEROHSRAE : 40°

JARD4V R 1 70° —40°=30° (MM LE)

\ N
330°
0 ‘o
\ /70" {
v )
/ Y \,\\
¢ W
f W 4 A

fe

v

W X

1 ,'
L N ]
X V i
X N #

/, \

/, \\

/ \

\

200N

s s
70°—40°=30° 180° — (330° —220°) =70° 360° —(330° —40°) =70°
(MmH»WE<Headwind>) GEBVVE<Tailwind>) (mpLVE<Headwind>)
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6) IDRILVRDFHE

I (TZAT4yoh—R) 2 B0 BE (A 0E,8VE<Head/Tailwind Component>) &40
4> Kf8 (Crosswind Angle) EDZX B ERDET,
CORREEERE THRARY, VART1 2 ROfE (Crosswind Component) €8 HUE T

% @& (Headwind Component) : 40 mph
—0X 4> KA (Crosswind Angle) : 30°
IRARY1> FOfE (Crosswind Component) : 20 mph

Headwind
Component
HWC (mph)
° S o
o -~ 3 %(5‘\\'*
ST eSS
SEERE
40 =/
Vil Chane
30 f]
Il ~N
/
n
20 = ¥
/ X 10
\_—
7 >
10 = \ 80°
] e
7 S N Crosswind
—10- 40— o Component
0 =10-{-20~ 40-—50 90 OWE (moh)
\ i !
10 F / 7 80°
\ /T
20 0°
L
30 \’
\
= 5
40171\ 2 s
& Qe?’
50— &
o = [}
Tailwind = ° 2 °
Component
TWC(mph)
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7 RYZ+AORROFHE
SARTA 2 ROME(20) ZBEER T VY — LI (A) ITRRL AT =L (C) TRUZMEEHTHET .,

Bl RUZRE:#96.5°

8) BIEHBOHE
AARPSAEASRNTVSEEE BIFRBEICRUTZIEZENAET.
EARPSEASRNTVSISEE BRRBENSRUTIEZESI &Y,

) {BIESHER : 40°— 6.5°=46.5°

Ja—X (D) EFEWENSA—Y A RRERA 2T —NEIV(E) ICCOIBIEH (46.5°) £RRLET.

D
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BRMVFEWICELTOIEE

NIV DB E DHOPWIBEERBLAR RETHL2FCIEAREINDILEERHVVLET,
FROBICEBININ S OERBRFIEEERROY —ER IS —ATERELS N, LR OIEICE
frE THAKBEEDREDSE TWELEET,

MK MAEFORIZ10RE = 1004 —ML = 33074~k T,
THKEER DI DEDDEREIE

AR (1) ki@ EER (TS,

KPTE2—XEBRELZNTESN,

KSR UARICIEERTESTTOTEEL,

Rt 2RO LIcF L<EMA LTS,
EEERITEBCELTNINS Y DERBFEEEARDOY —ERELH—TKGEER (T TS,

Al

N=FFA—bIT400-X - DAV R BHEEL—TAVIDPBEERHENTOES, FEOFHETHIDOO—5 —
DEEL, EORAEEELTLLRAT AL TVET . EVRADBRL(CEZ LITFONLKRETHNETRERRN
AR LIR(TE T W BERISE R FHTE YA EEBILEDTEET. T —RFL— RN =Ny EEST
WETDT ELVWA—TAVRETBNEESIENTEET.
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1) HiE/ B/ B R R BB R B A B B T FRE M 2. BEAs2 3 TiX
NV INEHE A R A A AR PR S AT SRR 55 o AR 7 A TR B i

2) itRIBEE/ B
MIEEAR, JF HAEH ) RITEEAT 174 ) BB P AR 0
3) ity EEEE

4) 12 /it #es

fERA

10 R Khaki Automatic X-Wind £ = A~ FhENFE LA R P A4 XA L
() AT IR ERR, R H BT
Vi ST INFY (B) AT L ifiligt% i (C) it
6) Tt AT ERINSLEY/NFYET (D) TS5 T ikiede i i (B) 25
(2) AT e s kTR S 4
(3) K Lh &5 B AT AL

5) 30 o ¢hit#iss

& E R iE

- EFRERR (1),
N (1b) L&

e SRR EEI ULy e Sk T
PO e A KT FE AT S

A) it E

B) AT C wRE

REEN/ 2
B IFi B (1).
, — R (a6,
C) Lt — PR B A R A L, ORI R PR R, € 20 A 02 B
(e b 8 AFIRR 2 AR S (ISR,

= HEFGE R A E R BT ERTHTE.
D) A-FiAY E ks

E) THEiE%A
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THETREThAE 3)  VAEEGEEESIE (A), (ELLEAMAER CHLEER 52—,
= B RAE PR/ kL (2) AR AN TN SR AR .
- BUAE T RE)/ Il (2) el LT SRR RS

—  BUEHUBT BA PR,/ A (2) B2 FORR P e 1B =

LGB S 0 A
- HTREREEL (), PRI TR AT, vy
MR gﬁﬁﬁ@}mw
1) LI (B), #1 LGNNI (C) ML kiR 12 AER, WHkE (D), g

8 TR (E) $R161 0° %, S

Bilhn: KHLEEE: 180 mph —$&[7 18

E 4) GERFES L, ATUASH CHLARE AL :
Wl (Var) Bl T ui i fo g, T A Tas [ A A

Mn f %
E‘_ 0
2) NI SR AR b R SR R BR. harmy

fl4n. RiE: 40 mph »
R 70 Var10°W ~1|

IR SGE (B), (AT H A LI IE P B (C) 451 AU (70), :

22 (Van) fR1P, W05 3 IR (Var) F5 7R, WIEOT R 5 5
RO, N EEIRE 5 . AR, T BB (.
ftn 30° +10° = 40° 4. 30°-15° = 15°

Tn: ¥k | Mn: @1L | Var: Bl 72

Biln: HIifr: 30°
Witz (Var): 10°
AL 30°+10° =40°
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5) fllR.f EE (Crosswind Angle)Jil-4 6) MIAYLIEL
{5 FH PRl 2 (SRR ) B JRGE  28 SR (3 /i R 4y F(Head/ Tailwind: Component)) LA J il AU ff J&

Bilan: Rm. 70° (Crosswind Angle), itz X ni, EMEH i HMK S 71 (Crosswind Component) [14{f

TCHLEETT L. 40°

MRAEE: 70°-40°=30° (i#x)

X £ % (Crosswind Angle): 30°
.43 71 (Crosswind Component) . 20 mph

Bi4n: 5% K44 1 (Headwind Component): 40 mph

i 539"/,(,,.71 . ;39"/,(,,.717.,,\’,\ o Headwind
S . / < N, o t
// TN / w70 \\\ WG (mph)
s/ 3 SX o & >
VA YA P N
wJ:r :X\' J:r E wJ:r '\X\' J:r E 50 in A 5 V@\f
{ // \\ ] ‘3\ ,// \\ /; , L
/ \, / \, 7 I L
J/ \\)\// ‘\\(f\ \\ / QSE::
- 20~y N ’ ’**»—+—‘/'){/ 30 =
N S S !
/
20 IS X 1o
70°-40°=30° 180° - (330° - 220°) = 70° 360°-(330°-40°) =70° HAE2 N
(3 X, (Headwind)) (Jisi A (Tailwind)) (3% X, (Headwind)) 10 LT { ”;”Ty_ 80°
7 =2 i i Crosswind
—10- A= o C t
0 =10 20 \30 4050 90 C\‘;V"(‘:p?r?‘iﬂ)
10 f L 80
~/
\ e
20 0°
A A
30 — :7(\‘****** SN/ P0P
\ \/ 0|
Ao
40 FHHEE) - b
X Q%é?
50 T "%
= o,
Taiwind 5 Q)
Component
TWC(mph)
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7)) HHRAREE
ERNEFIME (A) EMRSy 71 (20), JFHMMIE (C) EiiRAAE.

flan: IRAFAE: K& 6.5°
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